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. global impact technique
. net impact technique

impacted as-planned technique

. collapsing technique (as-planned technique)
. isolated delay type technique

windows analysis

. the society of construction law (SCL)
. as-planned schedule

as-built schedule

. collapsed as-built

. adjusted as-built CPM technique

. snapshot technique

. traditional windows analysis (TWA)

. adjusted schedule

. as-planned schedule

. pacing delay

. delay analysis method using delay section (DAMUDS)
. delay section

. contractor’s float (CF)

. effect-based delay analysis method (EDAM)

. daily windows delay analysis (DWDA)

. intelligent bar chart (IBC)

. spreadsheet cell

. daily percentage completes

. delay snalysis under multiple baseline updates (MBU)
. visual basic for application

. microsoft excel
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project has 3 baseline(s)

Analysis of days 1 to 4: A new baseline has been entered.
Day: 1 (ror ) ebe)
Previous Duration = 15.0
progress data of Day 1 is now entered. The result is:
Current Duration = 15.0

compensable owner delays (0) = 0.00, Owner Acceleration= 0.00.

contractor delays ©) - 0.00, contractor Acceleration= 0.00.

Execusable delays (N) = 0.00.

Day: 2 (r Y Y el uy)
Previous Duration = 15.0
progress data of Day 2 is now entered. The result is:
Current Duration = 16.0
subcontractor s4 is partly responsible for the delay.
Subcontractor S4 is ;])art]y responsible for the delay.
compensable owner delays (0) = 0.50, Owner Acceleration= 0.00.

contractor delays (c) =0. 50 contractor Acceleration= 0.00.

Execusable delays N) - 0. 0!

Day: 3 (rv voehowse)
Previous Duration = 16.0
progress data of Day 3 1s now entered. The result is:

Current Duration =

Subcontractor S4 is qartly responsible for the delay.
Compensable owner delays o = 0.50, owner Acceleration= 0.00.
contractor delays =
Execusable delays ( ) = 0.

Day: 4 (V"Y ¥ ol unz)
Previous Duration = 17.0
progress data of Day 4 1s now entered. The result is:
current Duration =
Subcontractor S4 is l])artly respons1b1e for the delay.

compensable owner delays (0) = 0.50, Owner Acceleration= 0.00.
Contractor delays c = 2.50, Contractor Acceleration=
Execusable delays N) = 0.00.

Ana]ys1s of days 5 to 9: A new baseline has been entered.
Day: 5 (ror 0,k

The new basehne saves 3 days, which will be credicted as Contractor Acceleration.

Previous Duration = 15.0

progress data of Day 5 is now entered. The result is:

Current Duration = 15.0

compensable owner delays (0) = 0 50, owner Acceleration= 0.00.
contractor delays «©) = 50 contractor Acceleration=
Execusable delays N) =

Day: 6 (v 5 ,uh.e0)
Previous puration = 15.0
Progress data of Day 6 is now entered. The result is:
Current Duration = 15.0
compensable owner delays (0)
contractor delays C)
Execusable delays (N)

= 0 50, owner Acceleration= 0.00.
= 50 contractor Acceleration=

Day: 7 (7 TV el 3)
Previous Duration = 15.0
progress data of Day 7 is now entered. The result is:
current Duration = 15.0
compensable owner delays (0) = 0.50, Owner Acceleration= 0.00.
contractor delays (€) = 2.50, contractor Acceleration=
Execusable delays (N) = 0.00.

Day: 8 (rv Aeh.)
Previous puration = 15.0
progress data of Day 8 is now entered. The result is:
Current Duration = 15.0
Compensable owner delays (0) = 0 50, owner Acceleration= 0.00.
contractor delays © = 50 contractor Acceleration=
Execusable delays (N) =

Day: 9 (r-vv e.,.k...u»)
Previous puration = 15.0
progress data of Day 9 is now entered. The result is:
current Duration = 16.
Subcontractor sS4 is partly responsible for the dela
Subcontractor S4s4 is partly responsible for the de¥a .
Compensable owner delays (0 = 0.50, Owner Acce'lerat'lon- 0.00.
contractor delays =
Execusable delays (N) =

Analysis of days 10 to 17: A new baseline has been entered.
Day: 10 (ror e eb e

The new baseline saves 1 days, which will be credicted as Contractor Acceleration

Previous Duration = 15.0
progress data of Day 10 is now entered. The result is:
current Duration = 15.0

Compensable owner delays (o)

Execusable delays (N) 0.00.

= 1.50, contractor Acceleration= 0.00.
00.

0.00.

3.00.

3.00.

3.00.

3.00.

3 50 contractor Acceleration= 3.00.

= 0.50, owner Acceleratjon= 0.00.
contractor delays = 3.50, Contractor Acceleration= 4.00.

Day: 11 (rv 11 ehisje)
Previous Duration = 15.0
progress data of Day 11 is now entered. The result is:
Current Duration = 16.0
subcontractor s4 is partly responsible for the delay.
Subcontractor S4 is ?art’ly responsible for the delay.
compensable owner delays (0) = 1.00, owner Acceleration= 0.00.
Contractor delays = 4.00, contractor Acceleration= 4.00.
Execusable delays (N) = 0.00.

Day: 12 (¥ov 17 ubo i)
Previous Duration = 16.0
progress data of Day 12 is now entered. The result is:
Current Duration = 17.
Subcontractor S4 is part]y responsible for the delay.
subcontractor s4s5 is partly responsible for the delay.
compensable owner delays (o =1.00, owner Acceleration= 0.00.
contractor delays = 00 contractor Acceleration= 4.00.
Execusable delays (N) = 0.00.

Day: 13 (rov 17 oh.ew)
Previous puration = 17.0
Progress data of Day 13 is now entered. The result is:
current Duration = 17.0
Compensable owner delays (0) = 1 00, Owner Acceleration= 0.00.
contractor delays ©) = 00 contractor Acceleration= 4.00.
Execusable delays ) =

Day: 14 (v 1¥,ehs)
Previous Duration = 17.0
Progress data of Day 14 is now entered. The result is:
Current Duration = 18.0
subcontractor s4 is partly responsible for the delay.
Subcontractor S4 is qarﬂy responsible for the delay.
compensable Owner delays 0) 1.00, owner Acceleration= 0.00.
contractor delays .50, contractor Acceleration= 4.00.
Execusable delays (N) 0. 50.

Day: 15 (¥¥ 10,uh.6)
Previous Duration = 18.0
progress data of Day 15 is now entered. The result is:
Current ODuration = 18.0
compensable owner delays (0) =
contractor delays ©) =
Execusable delays N) =

1.00, Owner Acceleration= 0.00.
50 contractor Acceleration= 4.00.

Day: 16 (vor s e .iss)
Previous Duration = 18.0
Progress data of Day 16 is now entered. The result is:
current Duration = 17.
compensable Owner de]ays (0) =
contractor delays () =
Execusable delays N) =

1.00, owner Acceleration= 0.50.

0.50.

Day: 17 (\- WY W el uu)
Previous Duration = 17.0
progress data of Day 17 is now entered. The result is:
Current Duration = 17.0
compensable owner delays (0) =
contractor delays ©) =
Execusable delays N) =

1.00, owner Acceleration= 0.50.
5.
0.5

Al 3 a4 ey SESE a4 iy, o iy () o oo () ey

.50, contractor Acceleration= 4.50.

50 contractor Acceleration= 4.50.
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File Name = D:\arshad\payan nameh\final presentation\paper\paper\paper2\EASY PLAN\DWDA.tXt -

Project has 3 baseline(s)

Analysis of days 1 to 4: A new baseline has been entered.
Day: 1 (vor 1 jehe e
previous Duration = 15.0
Progress data of Day 1 is now entered. The result is:
current Duration = 15.0
compensable owner delays (0) = 0.00, Owner Acceleration= 0.00.
Contractor delays (€) = 0.00, contractor Acceleration= 0.00.
Execusable delays (N) = 0.00.
considering Resource Allocation:
current Duration = 15.0

Day: 2 (vr veb.esp)
Previous Duration = 15.0
Progress data of Day 2 is now entered. The result is:
current Duration = 16.0
Subcontractor S4 is partly responsible for the delay.
Subcontractor s4 is gart]y responsible for the delay.
Compensable owner delays (0) = 0.50, Owner Acceleration= 0.00.
Contractor delays (€) = 0.50, Contractor Acceleration= 0.00.
Execusable delays (N) = 0.00.
considering Resource Allocation:
current Duration = 16.0

Day: 3 (vr v,sbuese)
Previous Duration = 16.0
progress data of Day 3 is now entered. The result is:
current Duration = 17.0
Subcontractor s4 is partly responsible for the delay.
compensable owner delays (0) = 0.50, Owner Acceleration= 0.00.
contractor delays (€) = 1.50, contractor Acceleration= 0.00.
Execusable delays (N) = 0.00.
Considering Resource Allocation:
Current Duration = 17.0

Day: 4 (v ¥ k)
Previous Duration = 17.0
Progress data of Day 4 is now entered. The result is:
current Duration = 18.0
Subcontractor S4 is qartly responsible for the delay.
compensable owner delays (0) = 0.50, Owner Acceleration= 0.00.
contractor delays C) = 2.50, contractor Acceleration= 0.00.
Execusable delays (N) = 0.00.
Considering Resource Allocation:
current Duration = 18.0

Analysis of days 5 to 9: A new baseline has been entered.
Day: 5 (Y7 0 elu .,

Result of Delay Analysis.

Day: 9 (v aehu.awp)
Previous Duration = 16.0
progress data of Day 9 is now entered. The result is:
Current Duration = 16.
Compensable owner delays (0) = 0.50, Owner Acceleration= 0.00.
contractor delays C 2.50, contractor Acceleration= 3.00.
Execusable delays (N) = 1.00.
considering Resource Allocation:
Current Duration = 16.0

analysis of days 10 to 17: A new baseline has been entered.
Day: 10 (rr 1eshua

<
The new baseline saves 1 days, which will be credicted as Contractor Acceleration

previous Duration = 15.0

progress data of Day 10 is now entered. The result is:

Current Duration = 15.0

compensable owner delays (0) = 0.50, owner Acceleration= 0.00.
contractor delays (€) = 2.50, contractor Acceleration= 4.00.
Execusable delays (N) = 1.00.

considering Resource Allocation:

current Duration = 15.0

Day: 11 (rr W eteasin)
previous Duration = 15.0
progress data of Day 11 is now entered. The result is:
Current Duration = 16.0
subcontractor S4 is partly responsible for the delay.
subcontractor S4 is ?art'ly responsible for the delay.
compensable owner delays (0) = 1.00, owner Acceleration= 0.00.
contractor delays (€) = 3.00, Contractor Acceleration= 4.00.
Execusable delays (N) = 1.00.
considering Resource Allocation:
current Duration = 16.0

Day: 12 (v7 17 e i)
Previous Duration = 16.0
progress data of Day 12 is now entered. The result is:
Current Duration = 17.0
subcontractor S4 is partly responsible for the delay.
Subcontractor s4s5 is partly responsible for the delay.
compensable owner delays (0) = 1.00, Owner Acceleration= 0.00.
contractor delays ©) .00, Contractor Acceleration= 4.00.
Execusable delays (N) = 1.00.
Considering Resource Allocation:
current  puration = 17.0

The new baseline saves 3 days, which will be credicted as Contractor Acceleration. Day: 13 (r 7. .ew)

previous Duration = 15.0

progress data of Day 5 is now entered. The result is:

Current Duration = 15.0

compensable owner delays (0) = 0.50, owner Acceleration= 0.00.
contractor delays ©)
Execusable delays (N) =0.
Considering Resource Allocation:
Current Duration = 15.0

Day: 6 (v 5 ubu.em)
Previous Duration = 15.0
progress data of Day 6 is now entered. The result is:
current Duration = 15.0
compensable owner delays (0) =
contractor delays (c) =
Execusable delays ) =
considering Resource Allocation:
Current Duration = 16.0
Modified (N) Delay= 1.00

0.50, Owner Acceleration= 0.00.

Day: 7 (rov vsbew)
Previous Duration = 15.0
progress data of Day 7 is now entered. The result is:
current Duration = 15.0
Compensable owner delays (0) =
contractor delays ) =
Execusable delays (N) =1.
considering Resource Allocation:
Current Duration = 16.0

0.50, Owner Acceleration= 0.00.

Day: 8 (v Abuwx)
previous Duration = 16.0
progress data of Day 8 is now entered. The result is:
Current Duration = 16.0
compensable owner delays (0)
contractor delays ©)
Execusable delays (N
considering Resource Allocati
current Duration = 16.0

0.50, Owner Acceleration= 0.00.
.50, Contractor Acceleratiol
00.

ol

n:

.50, Contractor Acceleration= 3.00.
00.

.50, contractor Acceleration= 3.00.

.50, contractor Acceleration= 3.00.

Previous Duration = 17.0

progress data of Day 13 is now entered. The result is:

Current Duration = 17.0

compensable owner delays (0) = 1.00, Owner Acceleration= 0.00.
Contractor delays (€) = 4.00, Contractor Acceleration= 4.00.
Execusable delays (N) = 1.00.

Considering Resource A’I;I)ocat'ion:

Current Duration = 17.

Day: 14 (vor f ehues)
Previous Duration = 17.0
progress data of Day 14 is now entered. The result is:
Current Duration = 18.0
Subcontractor s4 is partly responsible for the delay.
Subcontractor S4 is ?arﬂy responsible for the delay.
compensable owner delays (0) = 1.00, Owner Acceleration= 0.00.
Contractor delays (€) = 4.50, Contractor Acceleration= 4.00.
Execusable delays (N) = 1.50.
Considering Resource Allocation:
Current Duration = 18.0

Day: 15 (v 10,u5.6)
Previous Duration = 18.0
progress data of Day 15 is now entered. The result is:
current puration = 18.0
compensable owner delays (0) = 1.00, Owner Acceleration= 0.00.
Contractor delays (€) = 4.50, contractor Acceleration= 4.00.
Execusable delays (N) = 1.50.
Considering Resource Allocation:
Current Duration = 18.0

Day: 16 (vor s eheqap)
Previous Duration = 18.0
progress data of Day 16 is now entered. The result is:
current puration = 17.0
compensable owner delays (0) = 1.00, Owner Acceleration= 0.50.
contractor delays (€) = 4.50, contractor Acceleration= 4.50.
Execusable delays (N) = 1.50.
Considering Resource Allocation:
Current Duration = 17.0

Day: 17 (var wehae)
Previous Duration = 17.0
progress data of Day 17 is now entered. The result is:
Current Duration = 17.0
Compensable owner delays (0) = 1.00, owner Acceleration= 0.50.
contractor delays (€) = 4.50, contractor Acceleration= 4.50.
Execusable delays (N) = 1.50.
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